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1. #include <stdio.h>
2. #include <stdlib.h>

3. int main()
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{

printf("\n "+" IREEMHARITTRIERISEUE: \n\n");
printf("%+10d %+10.2f %+10s\n",56,-809.56,"American");
printf("%+10d %+10.2f %+10s\n",5668,-23.5,"USA");
printf("\n “-" FREEIHAXITFHIEGE: \n\n");
printf("%-10d %-10.2f %-10s\n",56,-809.56," American");

10. printf("%-10d %-10.2f %-10s\n",5668,-23.5,"USA");

1. printf("\n "#" FRSHEIHFHRISRAY) \IFEBEFI+7<HHIE: \n\n");

12. printf("%#o %#x\n",0546,0x5B);

13, printf("\ngaHATERISRAY) UFE SR SEBEL: \n\n");

14. printf("%o %x\n\n\n ",0546,0x5B);

15. system("pause”);
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16. returnO;
17. '}
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REBIBER 2: printf() EREHSUEIH

1. #include <stdio.h>

2. #include <stdlib.h>

3. int main()

{

printf(" "%%10.4f" iHEEE 104N NI EIE R FE =2 \n"),;
printf("%10.4f %10.4f\n",-1234.123457,3.14159);

printf("\n "%%15.8If" HHBEE 158 AL NIITUEREF=EL: \n");
printf("%15.8If %15.8I1f\n",-123.123456789,3.14159);
printf("\n "%%10.4s" HHBEE10Z4NFRIAIFRIE: \n");

10.  printf("%10.4s%10.4s"," ABCDEFGH","enlish");

11. system("pause”);
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12. returnO;
13. '}
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-1234.1235 3.1416
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-123.12345679  3.14159000

"%10.4s" BWHEE 1084 NFTIERTER:
ABCD enli
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